
���������������������������������������������
������������������������������������
���
������	��������������������������������

����������
������
�������
���
��
�����������������
��������
���������
�������
��������

��� 
��������
�����
���� �� ����������­

���������������������­ �����������������
������������
���������������������������������������������

���������������������­
����������������������������������������������������������������������������� ��

�������
���������������­���

����������������������������������������
�������


�����������������
������	��	�����������	�������������������������������������������������������������	����	��
�����	���������
����������������������������������������


��������������	������������������	�������������������	���������������������������������������	��������������������
����������


�����������������	�������������	��	���������������������������������������������������������������	����
��������		�����������	��������������
���	������������

��������
����������
����

��������
�������
������

��������������� ������
����������������
���������������������
��	�������������
���������������

2mm Drill bit

x2  ������­���������������­����������
�������­��������������­�������	����


�����������������������
���	�����������������

��������������������������
����������������������	����
����������������������	����
����������	�����������

�������
�������������������������������������
������	����������	���������������������
������	�����������������������������	����������
�������������������������������������������������
�����������������������������������������
�������

��������������������������
����������������������������
	��	����������������
	����������

�����������������

��������
���������������

����������������	

����������������������������������������������������

����	��������	��������������������������������������������������������������������������

� �������������������������������������������������������������������������������������
��������������������������������
������

������������������������������	��������	����������������������������

�����������������������������������������������	����������������������������������������

���������������������������������

���������������������������������������������������������������������������������������		�����������������	���
�����������������������������������������������������������

 ����������������������������������	��������������������������������������������������������������������	�������
�����������������������

������

�������������������������������������	���������	���������������������������	����������������������������������������
�����������������������������������������������������������		���� �����������������������������		������������	�������
���������������������������������������������������������������������	������	���������������������	��������������������
��������������������������������������������������������������������������������������������������������������������
��	�����������������������������������

��	����������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������
���������������

����������������������
������������������������������������������	��������������������	���������������������������������
���������������������
���������������������������
��������������������������������������������������������
����������������������������������
�
�����������������������������������������������������������������������������

���������������
 ������������������������������������������������������������������������	������	�����
���������������������������		������������������������������	����������������������������

��������������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������	���������������������������
������	�����������������������������������������	����������������������������������������������������������������������
������������������������

�������������

����	����������������������������������
	����

����������������������������������

� �����������

��������������
�����
����������
������
�
���������������������
��
��������������
��������������������
���������
�����
��
����
�����������
�������­��������������������������������������������������������������������������������������
���
��� 



���������������������­ �����������������
������������
���������������������������������������������

����������

������������������	���������������������������������������������������������

�������������������������������������������������������

���	���������������������������	�������������������������	��	������	���������������

���	����������������������������������

���	������������������������	�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

�����������������	��������������������������������	��������������������	��

�����������������	����������������������


������������������������������������������������������������������������
����������������������������
��������
��������
�������������������������
����������

����������������������������������������������������	����

�������������������������������������������������������������������

����������������������������������������������������������������������������������
�����

��������������

������
�����������	���������
�����
�������������
�����������������������������
������������
��������
������������
�������������
��������������������������
����������
������

����	��������� ������������

 ���������������������

�����������������������������������
��������
��������
��������

������� ������������������������
��������������������	�
��������������������������

��� 
��������
�����
���� �� �����������

������������������

�����������������������������������������������������
�����������������	����	���������������������������	����
��������������


������������������	�����������������������������������	��
������������������������������������	������

�������	
���������������	�������������	���	����������	�����

���������������������������	
����������������������	��	�����

��������������������������������������������������������
������������������
��������������������������	��
��������

�����

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 2438mm 
Depth = 2488mm 
Height = 2670mm

Base Dimensions: 
Width = 2350mm 
Depth = 2350mm 

21 3 4

6 7

11 Ridge Bar - 28x28x2304mm QTY 1
FS2828-2304mm

13 Cover Trim - 12x40x2043mm QTY 7
S1240-2043mm

14
Fascia - 12x60x1333mm QTY 4
S1260-1333mm

15
Door Strip - 12x60x1720mm QTY 2
S1260-1720mm

16
Door Support Framing -  27x44x2304mm QTY 1
F2744-2304mm

19

Finial QTY 2
SHED DIAMOND FINIAL

Rain Guard - 28x44x680mm QTY 2
RG2844-680mm

20 21

Butt Hinge QTY 14
PI-07-0066

22

Door Handle QTY 2
PI-07-0081

23

Barrel Bolt QTY 6
PI-07-0114

18

Turn Button QTY 2
PI-07-0034

24

Press Lock QTY 1
PI-07-0162

25

“L” Bracket QTY 2
PI-07-0012

Felt
PI-01-0016

26

17
Panel Framing -  28x28x1180mm QTY 4
FS2828-1180mm

12
Floor Block -  28x28x400mm QTY 8
F2828-400mm

Floor QTY 4
AI-R11MBF1175X1175-V1

Roof  Panel QTY 2
AI-S11MBOHAR2390X1356-V1

Door Panel QTY 1
AI-03S11SHFCD2360X2015-V1

Window Panel QTY 2
AI-03S11SH1TFWC687X2007-V1

Side Panel QTY 2
AI-S11SHPPTOV1623X2007-V1

Back Panel QTY 2
AI-S11SHPP1180X2015-V1

5

Gable  Top QTY 2
AI-S11SHAGT2310X559-V1

8

Master Door QTY 1
AI-STDFGMD475X1715-V1

(Green Label)

9

Secondary Door QTY 1
AI-STDFGSD475X1715-V1

(Blue Label)

10

Plain Door QTY 2
AI-STDFGPD475X1715-V1

(White Label)

Building Contents:



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Nail Bag
There may be extra screws present in the nail bag 

35mm Bolt QTY 4

50mm Screws QTY 91

40mm Screws QTY 40

30mm Screws QTY 79

25mm Screws QTY 78

10mm Screws QTY 36

Felt Tacks QTY 110

60mm Screws QTY 16

Pre Assembly

Before assembling remove the transportation
blocks from the bottom of each panel.

Take care removing the blocks as to not damage
the panels. Tap with a �at headed screwdriver 
and hammer.

Dispose of the blocks once removed.

1010

20

Pre drill 
hole

25mm 
screw

30mm 
screw

IMPORTANT: Pre-drill before �xing screws.

1 Internal View

Step 1
Parts Needed - No.1 QTY 1
   - No.10 QTY 2
   - No.20 QTY 6

Lay the Door Panel (No.1) on a �at surface 
framing facing upwards. Attach the plain doors 
(No.10) to the inside framing of the door panel 
(No.1) using 3 butt hinges (No.20).

*Fix the hinges to the inside of the door panel.

Fix to the door using 3x25mm screws & 
3x30mm screws to the framing per hinge, 
ensure the doors open freely, folding back into 
the building unrestricted.

18x25mm Screws
18x30mm Screws

89

Pre drill 
hole

25mm 
screw

20 20

20 20

20 20

20 20

IMPORTANT: Pre-drill before �xing screws.

 8
9

External View

Step 2
Parts Needed - No.8 QTY 1
   - No.9 QTY 1
   - No.20 QTY 8

Turn the door panel (No.1) over so the 
framing is on the �at surface. 

Locate the Master Door (No.8) and 
Secondary Door (No.9) within the 
aperture. Position the doors so that they 
are equally spaced within the opening 
and interlock as shown.  

Fix the doors (No.8 & 9) to the attached 
plain doors with 4xbutt hinges (No.20) 
per door, using 6x25mm screws per 
hinge.

*Ensure the doors open freely, folding 
back into the building unrestricted.

48x25mm Screws



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

35mm
bolt

Pre drill 
hole

10mm 
screw

25mm 
screw

22

                                 

21
24

IMPORTANT: Pre-drill before �xing screws.Step 3
Parts Needed - No.21 QTY 2
   - No.22 QTY 6
   - No.24 QTY 1

Secure the barrel bolts (No.22) to the top & 
bottom of each plain door and the secondary 
door using 6x10mm screws.

Attach the press lock (No.24) to the master 
door with 4x25mm screws, aligning the 
barrel with the key hole. 
*Ensure the key turns and locks properly 
before �xing to the door.

Fix the door handles (No.21) to the outside 
of the master and secondary door using the 
35mm bolts provided.

36x10mm Screws
4x25mm Screws
4x35mm Bolts

7 3

3 7

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws.Step 4
Parts Needed - No.3 QTY 2
   - No.7 QTY 2

Fix the Window Panel (No.7) and Side 
Panel (No.3) together by screwing 
through the framing using 6x50mm 
screws. 

Ensure to stagger screws to avoid 
colliding.

Repeat this with the second Window 
and Side panel but the opposite way 
round, as shown in the diagram.

12x50mm Screws

Pre drill 
hole

30mm 
screw

12

6

IMPORTANT: Pre-drill before �xing screws.

12

6

Step 5
Parts Needed - No.6 QTY 2
   - No.12 QTY 8                               

Secure the �oor (No. 6) to the 
Floor Blocks (No.12) using 
8x30mm screws per �oor. 

Repeat this for one other �oor 
panel.

16x30mm Screws



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

6

Pre drill 
hole

30mm 
screw

6

IMPORTANT: Pre-drill before �xing screws.Step 6
Parts Needed - No.6 QTY 2                              

Secure the �oor (No. 6) to the 
assembly from Step 5, using 8x30mm 
screws per �oor. 

Repeat this to create two assembled 
�oors

16x30mm Screws

Step 7
Place the assembled �oor panels (No.6) 
upside down onto a �rm and level base. 
Ensure the base has suitable drainage, 
free from areas where standing water 
can collect.

Secure the �oors together using 
8x50mm screws through the �oor 
bearers in an alternating pattern.

Once �xed together turn the  �oor back 
the right way up.

8x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

50mm 
screw

4

Pre drill 
hole

50mm 
screw

4 3
7

IMPORTANT: Pre-drill before �xing screws.

a

Step 8
Parts Needed - No.3 QTY 1
   - No.4 QTY 2
   - No.7 QTY 1

Fix the Back panels (No.4) side by side 
using 3x50mm screws, �x the corners 
or the back panel (No.4) and the Side 
Panel (No.3)

Do not secure the building to the �oor 
until the roof �tted.

6x50mm Screws

a

a

a

13
7

IMPORTANT: Pre-drill before �xing screws.Step 9
Parts Needed - No.1 QTY 1
   - No.3 QTY 1
   - No.7 QTY 1

Fix the side panels (No. 3 and No.7) 
and the door panels (No.1) corners 
with 50mm screws as shown in the 
illustration.

Do not secure the building to the �oor 
until the roof �tted.

9x50mm Screws

Pre drill 
hole

50mm 
screw

a

a

a

a a

a

a



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

Pre drill 
hole

50mm 
screw

5
5

IMPORTANT: Pre-drill before �xing screws.Step 10
Parts Needed - No.5 QTY 2

Place the gable tops (No.5) onto the 
window panels, ensuring the boards 
interlock.

Secure in place using 4x50mm screws 
per gable top (No.5), screwing in an 
alternating pattern.

8x50mm Screws

Pre drill 
hole

25mm 
screw

11

25

IMPORTANT: Pre-drill before �xing screws.Step 11
Parts Needed - No.11 QTY 1
   - No.25 QTY 2

Attach the “L” brackets (No.25) to 
each end of the ridge bar (No.11) 
with 2x25mm screws per bracket.

*Ensure the brackets are �ush with 
the ends of the ridge bar.

Align the ridge bar (No.11) between 
the gables and secure to the central 
uprights with 2x25mm screws per 
bracket (No.25) as shown in the illus-
tration.

8x25mm Screws

Pre drill 
hole

50mm 
screw

17
17

17

17

IMPORTANT: Pre-drill before �xing screws.

17

Step 12
Parts Needed - No.17 QTY 4

Place the panel framing (No.17) 
along the top of the panels at the 
front and back of the building and 
secure using 2x50mm screws per 
framing piece.

8x50mm Screws



��� 
��������
�����
���� �� �����������

�����������������
������������
���������������������������������������������

60mm 
screwPre drill 

hole

2 2

Step 13
Parts needed - No 2 QTY 2

Place the Roof Panel (No. 2) on top of the 
building making sure the framing in the roof 
panels sits �rmly within the Gables (No. 5) and 
on top of the Ridge Bar (No. 11).  

**Make sure that you have got the roof panels 
the correct way round with the recess at the 
top of the apex as shown in the diagram.**

From the top, �x directly through the roof panels 
(No. 2)  into the ridge bar (No. 11) below using 
5x60mm screws per roof panel.

It is essential that the ridge bar (No. 11) and roof 
panels (No. 2) framing pull together when �xed 
with 60mm screws.  You may require another 
person pushing the ridge bar (No. 11) up from 
below to achieve this.

HINT - Follow the nailing line of the framing on 
the roof panel so that you are more likely to �x 
into the ridge bar below. 

10x60mm Screws

IMPORTANT: Pre-drill before �xing screws.

2

2

Pre drill 
hole

                            

IMPORTANT: Pre-drill before �xing screws.

40mm 
screw

Step 14
Use 40mm screws to secure the Roofs 
(No.2) down the sides, front and back of 
the building.  Ensure there is no more 
than 300mm between each screw. 

Be sure that the screws attach into the 
framing below.

24x40mm Screws

2

2

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws.Step 15
Secure the building internally to the 
�oor using 9x50mm screws each side.

*Ensure to screw through the framing 
into the �oor bearers.

36x50mm Screws

b

b b b b b b b b bb b b b b b b b b



��� 
��������
�����
���� �� ����������¡

�����������������
������������
���������������������������������������������

26

Felt 
tacks 100mm

HANDLE
WITH CARE

1 2

3

4

Step 16
Parts Needed - No.26 QTY 1

Cut the felt (No.26) into 3 strips measuring 
2500mm (L) x 1000mm (W) and place onto the 
roof, in the order shown in the illustration.

*Ensure there is approximately 50mm 
overhang of felt around all sides of the 
building.

Fix into place using 110x felt tacks at 100mm 
intervals.

110 x Felt Tacks

1. 2.

3.

13

13

Pre drill 
hole

30mm 
screw

13

13

13

IMPORTANT: Pre-drill before �xing screws.Step 17
Parts Needed - No.13 QTY 7

Screw the cover trims (No.13) to 
each corner of the building and 
across the joins of the panels with 
3x30mm screws per trim.

21x30mm Screws                             

14

Pre drill 
hole

40mm 
screw

14

1914

19
14

IMPORTANT: Pre-drill before �xing screws.Step 18
Parts Needed - No.14 QTY 4
   - No.19 QTY 2

Attach the fascia’s (No.14) and 
�nial’s (No.19) to the the sides of 
the building using 12x40mm 
screws.

16x40mm Screws



��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������

Pre drill 
hole

60mm 
screw

IMPORTANT: Pre-drill before �xing screws.

16

16

Step 19
Parts Needed - No.16 QTY 1

Place the Door support bar (No. 16) to 
the inside of the door panel as displayed 
on the  pictures. The 44mm side of the 
framing should sit against the inside of 
the door panel.

This framing will meet at each side panel 
as show in the image, and should be level 
with the door panel framing.

Secure the framing using 4x60mm screws 
externally through the front panel, and a 
futher 2x60mm screws through the side 
panels and into either end of the framing.

6x60mm Screws

Step 20
Drill 3x6mm holes into the framing in line 
with the barrel bolts, these will act as the 
catch for the barrell bolts. 

*You will need to unsecure the barrell 
bolts at this point.

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws.Step 21
Parts Needed - No.18 QTY 2

Fix the rain guards (No.18) above 
each window, securing in place using 
2x50mm screws per guard, ensuring 
to screw through the framing.

4x50mm Screws

18

18

18

30mm 
screwPre drill 

hole

Se
co

nd
ar

y 
D

oo
r Locking D

oor

23

IMPORTANT: Pre-drill before �xing screws.Step 22
Parts Needed - No.23 QTY 2

Attach the two turn buttons (No.23) to the 
secondary door at the top and bottom 
using 2x30mm screws.

*These turn buttons help to keep your 
doors straight during high & low levels of 
moisture content in the air.

2x30mm Screws



��� 
��������
�����
���� �� ����������­­

�����������������
������������
���������������������������������������������

Pre drill 
hole

30mm 
screw

15 15

IMPORTANT: Pre-drill before �xing screws.

Please be aware you may need to adjust the doors once the building is fully constructed.

Step 23
Parts Needed - No.15 QTY 2

Attach a strip (No.15) to the hinged side 
of the Master and Secondary doors. Each 
strip should overlap onto the plain doors 
to ensure the gap is covered.

*These strips allow you to adjust the 
doors allowing for moisture 
absorption and reduction. 

6x30mm Screws

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back



����������������������������������������������������������������������������	������
�������������������������������������������	��������������	�����������������	���������	�����
��������������������

 �������������������������������������	������������������������������

��������������������������������������������������	��������	�����������������
���������������������������
	����

�������������������������������������������������������������������������������
��������������������������������������

������������	�������������	������������	������������������������
�������������������
������������������������������������������������	�����������������������������������
���������������������������������������������������������

�������������������������������������������������������������������������

��������������������	������������������������������������������������������������������
���������������������������������������������������������������������������������������

������������������������������������������	�����������������������������������������
�������������������������	����������	����������������������������������������������������
�������������������������	�������
������������	���������������������������
�����������
���������������������������������������������������������������������������������������
¡�������������������������������������������������������

�����������������������������	���������������������������	��������������������������
�������	�����������������������	�������	������������������������������������	�����

�������������������������������������������������������	������������	�������������
��������	��	��������	��������������	����������

�����������������������������

�����������������������������������������������
��������������	�������������������	��������������������������������������������	������������������������������������	������������������������
	����������������	���������������	����	��������������������������������	�����������������������������	�������������������������������������	��	������������������������������������������
	������������������	����	��������������������������������������������������������������������������������������	�������������������������������	��������������������������������������������
	�����¡������������������	����������������������������

����������
�����
�����
������������������������������������������	��������������������	������������������������������������������������������
���������������
�����
�����
��������������������������������������������������������
����������¢��������
����
������
��
�
�����������������������������������������������������������������������������

��� 
��������
�����
���� �� ����������­�

������������������������������������� �����������������
������������
���������������������������������������������

��������������������

�����������
��������������

��������������������
�������������������	

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



�����������������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������

�

�����������������������������	
��������	����������������������������	��	����������������	������	����������������������������
�����	�����������������������������������������������������������������


����	��������������������	���������������������������������������������


����	����������������������������������������������������������������������������������


����	���������


������	������	���������������		�����	�����������������	�������������	�������


����	������	�����������������������������	�����


�����������������	�����¢�	��	������������������	����������������

�������������£������������������������������������������������������������

����
����

���	������������������������������������	�����������������������������������������������
�������	����	�����������������������������������������	������	��������������������������
��������������	����	������������������������������������������������������������	��

������

�����	����������������������������������������	����������������������	��	���������������

���������������������������		�����	�����	�����������������
�������������	��������������
	�����������������	��	��������������

����

���	������������������������������������������������������������������������������������	��
��������������������������������	����	����

�����������
���

��������������	�����	�����	���	�����������������������������	�������	��������	�������
��������������¡�������������������������������	���������������������������������������
��������������������

���

�������	������£���������������������������	������������������������	������������

��������������

�����������������	��	�������	�������������������������������������������������������������
	���������	���	������������������	�����������������������������������������������
������������	����������������������������������������	�����	������������������������
�������������������������������

����


����������	������������������������������������������������������������������	��������
������������������������������������		������������������������

������


����������������	�������������������������������������	���������������	��	���	���������
����������������������������������������������������������������������������	������������
��������������������������	�����������������������������������������

��	���������������������������������������������	���	��������������	����	����������������
����������������������������������������������������������������������	��������	������
������������������������������

����������
�

��������������	��	�����	�����������������������������������������	���������������������������
	������������������������������������������	�����������	�������������������������������

���������	�����������������������������������		�����	�������	�������������������������
�����	���������������������������	����������������������������������������	�����������������
���������������������

1

2

3

4

5

6

7

8

9



������
��������������
�����������
�������¤����
�����������������	

������������
���������
������������������������	������	��������������������
���������������������������������������������������������	���������������������
	������������������������������������������������������������������������
	��������������	���������������������	����������������������������������������
	�����	������
������	����������������������������������		����
������
��������������������������������������������������������	���������������������
���	����������������������������

����������������������������������������������������������������������
������������������������������������	�������	���������������������������������������
�����������������������	����������������������������������������������������������
��������������������������������������������������������������������������
�������

��
����
�
���
�����������������������������	�������������	����������	���
���������������	�������������������������������������������������������
����	�������������������������������������������	��������������������������
����������������������������������������������������������������������������������
	�����������������������

��������������������
���������������������	���������������������������
���������������������������������������������������������������������������
	��	������� ���������������������������������������������������������������
�����������������������������	������������������������������������������������������
�������������������������������������������������������	����������������
����
������	����������������������������������������������������	���������
����������	���������������������������������������������

�����������������
�������
�������������	�������������������	��	�����������
	�����������������������������������������������������������������������������
���	����������	��������������������������������������������������������������������
	�������������������������������������������������������

����
���������������		��������������������������������
����������������������������������������������������
������������������������������������������������������
����������������������������	���������������������������
�������������������	�������������������������������
��	���������������������������������������������������

����������������������������������������	��������
��������������������������������������������������
�������������������������������������	��	������

������������¥�����������������


������������������������������������������������������������������������������������
����������������������������������������������� ����	��������������	��	������
	��	�������������������������������	���������¤�����������

�������������������������������������������������������������������������
�������������������	���������������������������������	�������������������������������
������������������������������������������������������

 ���������	������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
���   2


��������������	�������������������������������������������������������������
����������		�����������������	�������������������������������������������������
�������������

 ����������������������������������	������������������������������������������
��������������������������	������������������������������

�������������
����������������������������������
�������
���   1

�¦���������������   

��	��������������������������������������������������������������������������������
���������������������������������������������������������������������������������
�����������������������������������������������������������
��������������

����������������������
������������������������������������������	������������������
��	��
����������������������������������������������������
���������������������������
�������������������������������������������������
��������
����������������������������������
�
������������������������������������
�����������������������������������������

 ���������	�������������������	��������������������������������������������
��������������������������������������������������������������������������
���������

�������������	������������������	��	����������������������	������������
�		���������

3

4 ��������
�������������
����
�����������������

��������
������������������������������������������	��������������������������
�������������������������������������������������������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������


�����������������������������������������������������	�����������	��������
�������������������������	������������������������������	����������������������������
����������������������������������������������	���������������������������������������
����������������	��������	��������������������	����������	�������������������������
���������������������	�������������	���������������	�¥

��
���
��	
���	�������

�����	������
��������������	������������������

��������������������
��������������	��	������



�����������������

��������
���������������

����������������	

�����������������������


������	���������������	������������������������������������������������������������
������	�����������	���
�����������������������	���������������������������������������������������	��������
�����

������������������������������������������������������		���

��������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������������	����������������������������������
��������������������������������������������	�������������		�����	���������
���������������������	����������	��������������
�������������������������������������������������������������������	��������
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������£��������������������������
	��	���������������������	�������������������������������
�����������������������������������	������������������������������������	��������������
������������������	�����	������	��	������������������������������������������
¦�������������������������������	����	��������������������������������������������������
���������������������������������
�����
���������������¡�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

������������¥����������1 2 ������������������

���	���������������	����������������������
������������������������������������
�����������������������������������������������������������������	�������������������
	����������������������������������	�����������������������	������	����
�����������������������������������������������������������������������������
������	����������	��������������������������������������������������������������
�����������������������
������������������������	���������������������������������������������������	���
����������

�������������������������������������������������������		���

�������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������	����������������������������������
���������������������������������������������	�������������		�����	���������
���������������������	����������	��������������
�������������������������������������������������������������������	��������
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������£��������������������������
	��	���������������������	�������������������������������
�����������������������������������	���������������������������	���������������������
�����������	�����	������	��	������������������������������������������
¦�������������������������������	����	�������������������������������������������������
���������������������������������
�����
���������������¡�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

��� 
��������
�����
���� �� ����������­�

�����������������
������������
���������������������������������������������


